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Question Bank

1. Find the equation of the circle with (a)

centre (0,2) and radius 2 (b) centre (-2,3) and

radius 4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AHFK1DnaDIdr


Watch Video Solution

2. Find the equation of the circle in following

cases. 

centre  and radius .

Watch Video Solution
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3. Find the equation of the circle with centre

(1,1) and radius 

Watch Video Solution

√2

https://dl.doubtnut.com/l/_AHFK1DnaDIdr
https://dl.doubtnut.com/l/_pX6vHBHlEQk4
https://dl.doubtnut.com/l/_YyA9eSak0lCl


4. Find the equation of the circle with centre (-

a,-b) and radius 

Watch Video Solution

√a2 − b2

5. Find the centre and the radius of the

following circle 

Watch Video Solution

(x + 5)2 + (y − 3)2 = 36

https://dl.doubtnut.com/l/_YyA9eSak0lCl
https://dl.doubtnut.com/l/_PHl9a6925ajg
https://dl.doubtnut.com/l/_jIgOVXTOGcaL


6. Find the centre and radius of the following

circles. 

Watch Video Solution

x2 + y2 − 4x − 8y − 45 = 0

7. Find the centre and radius of the circle. 

.

Watch Video Solution

x2 + y2 − 8x + 10y − 12 = 0

https://dl.doubtnut.com/l/_5hAp681nD4HE
https://dl.doubtnut.com/l/_2q2HiBfooNgw


8. Find the centre and radius of the following

circles. 

Watch Video Solution

2x2 + 2y2 − x = 0

9. Find the equation of the circle passing

through the points (4,1) and (6,5) and whose

centre is on the line 

Watch Video Solution

4x + y = 16

https://dl.doubtnut.com/l/_uSb6i7CYNaBn
https://dl.doubtnut.com/l/_G3fxMBHiA5E2
https://dl.doubtnut.com/l/_8IuRBF2rpsPM


10. Find the equation of the circle passing

through the points (2,3) and (-1,1) and whose

centre is on the line x-3y-11 = 0

Watch Video Solution

11. Find the equation of the circle with radius 5

whose centre lies on x-axis and passes

through the point (2,3).

Watch Video Solution

https://dl.doubtnut.com/l/_8IuRBF2rpsPM
https://dl.doubtnut.com/l/_OJzAjeNzDmY0
https://dl.doubtnut.com/l/_bXFgQ64QvUos


12. Find the equation of the circle passing

through (0,0) and making intercepts a and b

on the co-ordinate axes.

Watch Video Solution

13. Find the equation of the circle with centre

(2,2) and passing through the point(4,5).

Watch Video Solution

https://dl.doubtnut.com/l/_bXFgQ64QvUos
https://dl.doubtnut.com/l/_vLSZNpdiljJ0


14. Does the point (-2.5,3.5) lie inside, outside

or on the circle 

Watch Video Solution

x2 + y2 = 25

15. Consider a circle with centre (2,-1) and

which passes through (3,6) Find the radius of

the circle

Watch Video Solution

https://dl.doubtnut.com/l/_zqQoUTObIBO9
https://dl.doubtnut.com/l/_p66oZwBLct1f


16. Consider a circle with centre (2,-1) and

which passes through (3,6).Find the equation

of the circle

Watch Video Solution

17. Find the point of intersection of the lines

3x-y = 2 and x+2y = 3

Watch Video Solution

https://dl.doubtnut.com/l/_Bq4l0tbTAtem
https://dl.doubtnut.com/l/_rfxf3WLEQGcV


18. If the lines 3x-y = 2 and x+2y = 3 are two

diameters of a circle and if the circle passes

through (2,0), find the equation of the circle.

Watch Video Solution

19. If (-a,-a) are the co-ordinates of a point

which lies on x-2y = 3, find the value of a

Watch Video Solution

https://dl.doubtnut.com/l/_xRHm3z3E9dy9
https://dl.doubtnut.com/l/_MYIXfANTxszQ


20. Find, the equation of the circle which

touches both the axes and whose centre lies

on x-2y = 3

Watch Video Solution

21. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0 

Find the vertices of the triangle

Watch Video Solution

https://dl.doubtnut.com/l/_gDw7MIuvH4LT
https://dl.doubtnut.com/l/_SADhj51J8CDv
https://dl.doubtnut.com/l/_esAvXM6TFo9c


22. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0 .Prove that the

triangle is right angled

Watch Video Solution

23. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0.Find the mid point

of the hypotenuse and the length of the

hypotenuse

Watch Video Solution

https://dl.doubtnut.com/l/_esAvXM6TFo9c
https://dl.doubtnut.com/l/_IufIUBRmeIKo


24. Consider a triangle whose sides are along

x+y = 2, 3x-4y = 6 and x-y = 0 

Find the equation of the circum circle of the

triangle

Watch Video Solution

25. Consider the points A (4,3), B (8,-3) and C

(0,9).Find the slopes of AB and BC

Watch Video Solution

https://dl.doubtnut.com/l/_5m0hXBJmA3kK
https://dl.doubtnut.com/l/_vdVvPZB46rkn
https://dl.doubtnut.com/l/_4FWoMzCZgjDZ


26. Consider the points A (4,3), B (8,-3) and C

(0,9) 

Prove that A, B, C can't lie on a circle

Watch Video Solution

27. Express the equation

 in standard

form

Watch Video Solution

2x2 + 2y2 − 3x + 4y − 1 = 0

https://dl.doubtnut.com/l/_4FWoMzCZgjDZ
https://dl.doubtnut.com/l/_gIZWfW65jHQn
https://dl.doubtnut.com/l/_SV5WYqI3GXib


28. Find the centre and radius of the circle

View Text Solution

29. Prove that the equations of concentric

circles differ only in the constant term

View Text Solution

30. Find the radius and hence the area of the

circle 

Watch Video Solution

x2 + y2 − 6x + 12y + 15 = 0

https://dl.doubtnut.com/l/_SV5WYqI3GXib
https://dl.doubtnut.com/l/_gOzIL5nUCRGm
https://dl.doubtnut.com/l/_GyHUPT1QqnEB


31. Find the equation of the circle concentric

with the circle 

and double of its area

Watch Video Solution

x2 + y2 − 6x + 12y + 15 = 0

32. Consider the circle

.What is the

general form of the equation of a circle

concentric with the given circle?

x2 + y2 − 4x − 6y − 3 = 0

https://dl.doubtnut.com/l/_GyHUPT1QqnEB
https://dl.doubtnut.com/l/_fTplGFToOZ6w
https://dl.doubtnut.com/l/_CtR1WfxgZM7e


Watch Video Solution

33. Consider the circle




Find the radius of the circle

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0

34. Consider the circle

 


If this circle touches the y axis, find its

equation

x2 + y2 − 4x − 6y − 3 = 0

https://dl.doubtnut.com/l/_CtR1WfxgZM7e
https://dl.doubtnut.com/l/_WqPK33TusfTX
https://dl.doubtnut.com/l/_itD3ffACuZ5U


View Text Solution

35. Arun draws a circle with centre at (-1,-2) and

radius . What may be its algebric equation?

Watch Video Solution

√5

36. If (-1,-2) and (5,2) are the end points of a

diameter of a circle, find its centre and radius

Watch Video Solution

https://dl.doubtnut.com/l/_itD3ffACuZ5U
https://dl.doubtnut.com/l/_QCdbzE2uw6V9
https://dl.doubtnut.com/l/_7iSRQZSYKQ1W
https://dl.doubtnut.com/l/_IJa2nofdwd6T


37. Can you write the equation of circle by

using two different methods?

Watch Video Solution

38. Write the slopes of the lines 2x+3y-9=0 and

4x+6y+19=0. What do you observe?

Watch Video Solution

39. Find the distance between them.

https://dl.doubtnut.com/l/_IJa2nofdwd6T
https://dl.doubtnut.com/l/_oJZTHkiyDRvW
https://dl.doubtnut.com/l/_rszUO6xNXvjl


View Text Solution

40. If they are the tangents of a circle, write

the radius of the circle

View Text Solution

41. Find the centre of the circle

Watch Video Solution

x2 + y2 − 5x + 2y − 48 = 0

https://dl.doubtnut.com/l/_rszUO6xNXvjl
https://dl.doubtnut.com/l/_RgfDEjSqyixc
https://dl.doubtnut.com/l/_Ppuv4Z2wQge2
https://dl.doubtnut.com/l/_Ma2DWWtDibh0


42. Prove that (5,6) lies on the circle

Watch Video Solution

x2 + y2 − 5x + 2y − 48 = 0

43. Find the equation of this normal

View Text Solution

44. Complete the following table 

View Text Solution

https://dl.doubtnut.com/l/_Ma2DWWtDibh0
https://dl.doubtnut.com/l/_6nRJByIW0qX2
https://dl.doubtnut.com/l/_RbaEaOab6iE4


45. Find the equation of the circle passing

through (1,0),(2,-7) and (8,1). Hence prove that

(1,0),(2,-7),(8,1) and (9,-6) are concyclic

View Text Solution

46. For the following parabolas find the co-

ordinates of the focus, equation to the

directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum. y2 = 6x

https://dl.doubtnut.com/l/_RbaEaOab6iE4
https://dl.doubtnut.com/l/_rWYnDUqrAbnU
https://dl.doubtnut.com/l/_qJii2YbkJ5l8


Watch Video Solution

47. For the following parabolas find the co-

ordinates of the focus, equation to the

directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum.

Watch Video Solution

2y2 = − 8x

48. For the following parabolas find the co-

ordinates of the focus, equation to the

https://dl.doubtnut.com/l/_qJii2YbkJ5l8
https://dl.doubtnut.com/l/_Osph2vBHltAQ
https://dl.doubtnut.com/l/_HbMknkkBfsll


directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum. 

Watch Video Solution

x2 = 4y

49. For the following parabolas find the co-

ordinates of the focus, equation to the

directrix, equation to the axis, co-ordinates of

the vertex and length of latus rectum.

Watch Video Solution

16x2 = − 25y

https://dl.doubtnut.com/l/_HbMknkkBfsll
https://dl.doubtnut.com/l/_DIvzFeA8AQXZ
https://dl.doubtnut.com/l/_j5mxN7TVttd4


50. Find the equation of the parabola if 

the vertex is at the origin and the focus is (1,0)

Watch Video Solution

51. Find the equation of the parabola if 

the vertex is at the origin and the focus is

(0,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_j5mxN7TVttd4
https://dl.doubtnut.com/l/_yDhO213EnTLY


52. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

y2 = 12x

53. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum x2 = 6y

https://dl.doubtnut.com/l/_j9PBMOk2idij
https://dl.doubtnut.com/l/_cpPRRC3u4sla


Watch Video Solution

54. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

y2 = − 8x

55. In each of the following cases, find the co-

ordinates of the focus, equation of axis of the

parabola, the equations of the directrix and

https://dl.doubtnut.com/l/_cpPRRC3u4sla
https://dl.doubtnut.com/l/_1URBmVuaoOD2
https://dl.doubtnut.com/l/_f6fmfSfdHnFD


the length of the latus rectum 

Watch Video Solution

x2 = − 16y

56. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

y2 = 10x

https://dl.doubtnut.com/l/_f6fmfSfdHnFD
https://dl.doubtnut.com/l/_AwvQCGvEXxpB
https://dl.doubtnut.com/l/_5x4ebC3IP1L5


57. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

x2 = − 9y

58. Find the equation of the parabola

satisfying the following condition, 

focus(6,0), directrix .

Watch Video Solution

x = − 6

https://dl.doubtnut.com/l/_5x4ebC3IP1L5
https://dl.doubtnut.com/l/_8DwOJTS7svIr


59. Find the equation of the parabola whose

focus is (0,-3) and directrix is y=3

Watch Video Solution

60. Find the equation of the parabola whose

vertex is (0,0) and focus is (3,0)

Watch Video Solution

https://dl.doubtnut.com/l/_8DwOJTS7svIr
https://dl.doubtnut.com/l/_93dGYMafjN8A
https://dl.doubtnut.com/l/_6TcsPesHWYxA


61. Find the equation of the parabola whose

vertex is (0,0) and focus is (-2,0)

Watch Video Solution

62. Find the equation of the parabola

satisfying the following condition, 

Vertex (0,0) passing through (2,3) and axis

along x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_hNZOcrt0KtUg
https://dl.doubtnut.com/l/_59KYTAmM2Hdw
https://dl.doubtnut.com/l/_GaWiPCE29aDN


63. Find the equation of the parabola whose

vertex is (0,0) which is passing through (5,2)

and which is symmetric with respect to y-axis

Watch Video Solution

64. What is the general form of the equation

of a parabola with vertex at the origin and axis

as the x-axis?

Watch Video Solution

https://dl.doubtnut.com/l/_GaWiPCE29aDN
https://dl.doubtnut.com/l/_bNM8jUVestoJ
https://dl.doubtnut.com/l/_1lXcL6vUXrVp


65. Find the equation of a parabola with vertex

at the origin, focus at (4,0) and directrix x=-4

Watch Video Solution

66. Find the equation of the parabola

satisfying the following condition, 

Vertex (0,0) passing through (2,3) and axis

along x-axis.

Watch Video Solution

https://dl.doubtnut.com/l/_1lXcL6vUXrVp
https://dl.doubtnut.com/l/_7FMarUEFvi3n


67. Find the focus and latus rectum of this

parabola

View Text Solution

68. A parabolic path is with focus (-6,-6) and

vetex (-2,-2).Find the equation of the parabolic

path.

View Text Solution

https://dl.doubtnut.com/l/_aAQsVt5aSIJW
https://dl.doubtnut.com/l/_v1q2iGGDWIae


69. An equilateral triangle is inscribed in the

parabola  whose one vertex is at the

vertex of the parabola 

if 1 cms is the side of the equilateral triangle

prove that the length of each altitude of the

triangle is 

Watch Video Solution

y2 = 4ax

cms
1√3

2

70. An equilateral triangle with side 1c.m is

inscribed in the parabola  whose oney2 = 4ax

https://dl.doubtnut.com/l/_htKAxAHBMMlu
https://dl.doubtnut.com/l/_BjDjTYBF7jW0


vertex is at the vertex of the parabola 

Prove that  is a point on the

parabola

Watch Video Solution

[ , ]
1√3

2

1

2

71. An equilateral triangle is inscribed in the

parabola  whose one vertex is at the

vertex of the parabola 

Show that 

Watch Video Solution

y2 = 4ax

sideofthe △ = 8√3acms

https://dl.doubtnut.com/l/_BjDjTYBF7jW0
https://dl.doubtnut.com/l/_yj1hKJFibUMF


72. In each of the following cases, find the co-

ordinates of the focus, axis of the parabola,

the equations of the directrix and the length

of the latus rectum 

Watch Video Solution

x2 = 6y

73. Find the equation of the directrix of the

parabola 

Watch Video Solution

y2 = − 12x

https://dl.doubtnut.com/l/_tdSSIFw1OtO7
https://dl.doubtnut.com/l/_lThOblv8wRyE
https://dl.doubtnut.com/l/_pbq5l9MRIi9W


74. Find the length of the latus rectum of the

parabola 

Watch Video Solution

x2 = − 8y

75. Suppose that a parabola has vertex (0,4)

and focus (0,2) Is y-axis the axis of the

parabola?

Watch Video Solution

https://dl.doubtnut.com/l/_pbq5l9MRIi9W
https://dl.doubtnut.com/l/_CuNEt8hBRvrQ


76. Suppose that a parabola has vertex (0,4)

and focus (0,2)

Prove that the equation of the directrix of the

parabola is y=6

Watch Video Solution

77. Suppose that a parabola has vertex (0,4)

and focus (0,2)

Prove that the equation of the parabola is

x2 + 8y − 32 = 0

https://dl.doubtnut.com/l/_q4IfhOlhoLB6
https://dl.doubtnut.com/l/_Jw8oQGajkWmp


Watch Video Solution

78. Complete the following table

View Text Solution

(##ANEPMPMAT0XIC11E02017 _ Q01##)

79. Find the equation of the parabola with

vertex at the origin and focus at (-4,0)

Watch Video Solution

https://dl.doubtnut.com/l/_Jw8oQGajkWmp
https://dl.doubtnut.com/l/_dtcGmuR6cGqC
https://dl.doubtnut.com/l/_2JOSIKQN1Pa4
https://dl.doubtnut.com/l/_N7HBmCNZiSWE


80. Match the following 

View Text Solution

(##ANEPMPMAT0XIC11E02019 _ Q01##)

81. Find the lengths of the major and minor

axis, co-ordinates of foci and vertices,

eccentricity and equation to directrices for the

ellipse, 

Watch Video Solution

9x2 + 25y2 = 225

https://dl.doubtnut.com/l/_N7HBmCNZiSWE
https://dl.doubtnut.com/l/_s5sQr6V8zJLF


82. Find the ellipse satisfying the following

conditions: 

vertex , foci 

Watch Video Solution

( ± 5, 0) ( ± 4, 0)

83. Find the equation to the ellipse with axes

along the x-axis and y-axis , with centre origin

and which passes through the points P(4,3)

and Q(6,2)

Watch Video Solution

https://dl.doubtnut.com/l/_VEsDtvnYfk2r
https://dl.doubtnut.com/l/_d93wMpgWZfky


84. Find the equation of the ellipse passing

through (4,1) and which is having foci 

Watch Video Solution

( ± 3, 0)

85. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the following ellipses.

Watch Video Solution

+ = 1
x2

36

y2

16

https://dl.doubtnut.com/l/_d93wMpgWZfky
https://dl.doubtnut.com/l/_ibDJehPVcSTi
https://dl.doubtnut.com/l/_Fn1Poc14TudT


86. Find the coordinate of the foci, the

verticles,the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the ellipse. 

Watch Video Solution

+ = 1
x2

4

y2

25

87. Find the coordinate of the foci, the

verticles,the length of major axis, the minor

https://dl.doubtnut.com/l/_Fn1Poc14TudT
https://dl.doubtnut.com/l/_pRSXiwBJRsIn
https://dl.doubtnut.com/l/_uAoVnuqNgwz3


axis, the eccentricity and the length of the

latus rectum of the ellipse. 

Watch Video Solution

+ = 1
x2

16

y2

9

88. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the following ellipses

Watch Video Solution

+ = 1
x2

25

y2

100

https://dl.doubtnut.com/l/_uAoVnuqNgwz3
https://dl.doubtnut.com/l/_lzAoHjGs1kui


89. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the following ellipses

Watch Video Solution

+ = 1
x2

49

y2

36

90. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

https://dl.doubtnut.com/l/_lzAoHjGs1kui
https://dl.doubtnut.com/l/_aJ5jiKl6c7pi
https://dl.doubtnut.com/l/_IsVmvXQ08Cw1


axis, the eccentricity and the length of the

latus rectum of the following ellipses

Watch Video Solution

+ = 1
x2

100

y2

400

91. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the following ellipses

Watch Video Solution

36x2 + 4y2 = 144

https://dl.doubtnut.com/l/_IsVmvXQ08Cw1
https://dl.doubtnut.com/l/_6UOpezrKEFxv


92. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

latus rectum of the following ellipses 

Watch Video Solution

16x2 + y2 = 16

93. Find the co-ordinates of the foci, the

vertices, the length of major axis, the minor

axis, the eccentricity and the length of the

https://dl.doubtnut.com/l/_6UOpezrKEFxv
https://dl.doubtnut.com/l/_NBD4YUGqSf1R
https://dl.doubtnut.com/l/_LHKOpupReneV


latus rectum of the following ellipses 

Watch Video Solution

4x2 + 9y2 = 36

94. Find the ellipse satisfying the following

conditions: 

vertex , foci 

Watch Video Solution

( ± 5, 0) ( ± 4, 0)

https://dl.doubtnut.com/l/_LHKOpupReneV
https://dl.doubtnut.com/l/_hyDQ8tciR7zv


95. Find the equation of the ellipse whose

vertices are  and foci are 

Watch Video Solution

(0, ± 13) (0, ± 5)

96. Find the equation of the ellipse whose

vertices are  and foci are 

Watch Video Solution

( ± 6, 0) ( ± 4, 0)

https://dl.doubtnut.com/l/_UqAPMCM2LzId
https://dl.doubtnut.com/l/_tqaFoumrZVKW


97. Find the equation of the ellipse satisfying

the conditions ends of major axis are

 and ends of minor axis are 

Watch Video Solution

(0, ± √5)

( ± 1, 0)

98. Find the equations of the ellipse whose

end points of major axis are  and end

points of minor axis are 

Watch Video Solution

( ± 3, 0)

(0, ± 2)

https://dl.doubtnut.com/l/_3URnDIPj7Yxj
https://dl.doubtnut.com/l/_UxQH0Lp7MS8C


99. Find the equations of the ellipse satisfying

the conditions length of minor axis is 16 and

foci are 

Watch Video Solution

(0, ± 6)

100. Find the equations of the ellipse

satisfying the conditions 

minor axis is 16 and foci are 

Watch Video Solution

(0, ± 6)

https://dl.doubtnut.com/l/_UxQH0Lp7MS8C
https://dl.doubtnut.com/l/_ZZl1zNvtFuiO
https://dl.doubtnut.com/l/_D5tGB0HSCt99


101. Find the equation of the ellipse whose

length of major axis is 26 and foci are 

Watch Video Solution

( ± 5, 0)

102. Find the equation of the ellipse whose

foci are  and 

Watch Video Solution

( ± 3, 0) a = 4

https://dl.doubtnut.com/l/_S1kQcfdXpMEV
https://dl.doubtnut.com/l/_dNcMdvMEHaBY


103. Find the equations of the ellipse having

the following properties 

centre is at (0,0) and major axis as Y axis.

Watch Video Solution

104. Centre at (0,0), major axis on the y-axis

and passes through the points (3,2) and (1,6).

Watch Video Solution

https://dl.doubtnut.com/l/_IpgzhPjBSunu
https://dl.doubtnut.com/l/_Es5ttsMdE9Nf


105. Find the ellipse satisfying the following

conditions: 

, centre at origin, foci on the x-

axis.

Watch Video Solution

b = 3, c = 4

106. Find the equation of the ellipse with

major axis on the x-axis and passes through

the points (4,3) and (6,2)

Watch Video Solution

https://dl.doubtnut.com/l/_dfNGLZTYrhLt
https://dl.doubtnut.com/l/_u5isxZZkMATX


107. Express the equation  of an

ellipse in standard form

Watch Video Solution

3x2 + 2y2 = 6

108. Consider the equation of the ellipse

.Find e, foci, directrices, length

of major axis and minor axis and length of

latus rectum of the above ellipse

Watch Video Solution

3x2 + 2y2 = 6

https://dl.doubtnut.com/l/_u5isxZZkMATX
https://dl.doubtnut.com/l/_98PFANEHL9Vg
https://dl.doubtnut.com/l/_9xE7ci3cJhZh


109. Express the equation 

of an ellipse standard form

Watch Video Solution

9x2 + 16y2 = 144

110. Find the length of major axis and minor

axis, co-ordinates of foci and vertices and the

eccentricity of the ellipse 

Watch Video Solution

9x2 + 16y2 = 144

https://dl.doubtnut.com/l/_3IGWUsSAXNXk
https://dl.doubtnut.com/l/_nvbi6kf32oDj


111. Consider an ellipse whose foci are

 and which passes through 

 Prove that the equation of the

ellipse may be written as 

Watch Video Solution

( ± 2√3, 0)

(2√3, 1)

+ = 1
x2

a2

y2

a2 − 12

112. Consider an ellipse whose foci are

 and which passes through 

 


Find the value of 

( ± 2√3, 0)

(2√3, 1)

a2

https://dl.doubtnut.com/l/_dz3Mr85cFK2X
https://dl.doubtnut.com/l/_buZraFSw4Amt


Watch Video Solution

113. Consider an ellipse whose foci are

 and which passes through 

 Prove that the equation of the

ellipse is 

Watch Video Solution

( ± 2√3, 0)

(2√3, 1)

x2 + 4y2 = 16

114. Consider an ellipse with eccentricity 4/5,

foci on y-axis, centre at origin and which is

passing through  
(3√2, 5√2)

https://dl.doubtnut.com/l/_buZraFSw4Amt
https://dl.doubtnut.com/l/_zVyvNy4pjtrZ
https://dl.doubtnut.com/l/_5YromSHPtMyG


Assuming the equation of the ellipse as

, prove that 

Watch Video Solution

+ = 1
x2

b2

y2

a2
a2 = 100

115. Consider an ellipse with eccentricity 4/5,

foci on y-axis, centre at origin and which is

passing through  


Prove that the equation of the ellipse is

Watch Video Solution

(3√2, 5√2)

+ = 1
x2

36

y2

100

https://dl.doubtnut.com/l/_5YromSHPtMyG
https://dl.doubtnut.com/l/_qvx9UiNTRw9J
https://dl.doubtnut.com/l/_sla0Gg4aX5iU


116. Complete the following table 

(##ANE_PMP_MAT_0XI_C11_E03_028_Q01##)

View Text Solution

117. For the hyperbola  .find

the vertices, foci and eccentricity

Watch Video Solution

9x2 − 16y2 = 144

https://dl.doubtnut.com/l/_sla0Gg4aX5iU
https://dl.doubtnut.com/l/_AapuZJ7f3HLZ


118. Find the equation of the hyperbola with

vertices  and foci 

Watch Video Solution

( ± 5, 0) ( ± 7, 0)

119. Determine the eccentricity and length of

latus rectum of the hyperbola 

Watch Video Solution

− = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_9a0RSJFwXrF6
https://dl.doubtnut.com/l/_dPJ8F74jVkNg


120. Find the coordinates of foci, the vertices,

eccentricity and length of latus rectum of the

following hyperbolas. 

Watch Video Solution

− = 1
y2

9

x2

27

121. Find the co-ordinates of the foci and

vertices, the eccentricity and the length of

latus rectum of the following hyperbolas 

9y2 − 4x2 = 36

https://dl.doubtnut.com/l/_U1ymn7wJfw2W
https://dl.doubtnut.com/l/_MI8xt5XrlE8E


Watch Video Solution

122. Find the coordinates of the foci and the

vertices, the eccentricity and the length of the

latus rectum of the hyperbolas for

Watch Video Solution

16x2 − 9y2 = 576

123. Find the coordinates of foci, the vertices,

eccentricity and length of latus rectum of the

https://dl.doubtnut.com/l/_MI8xt5XrlE8E
https://dl.doubtnut.com/l/_JIMvYuPKjJrv
https://dl.doubtnut.com/l/_91fmmorkRiBl


following hyperbolas. 

Watch Video Solution

5y2 − 9x2 = 36

124. Find the co-ordinates of the foci and

vertices, the eccentricity and the length of

latus rectum of the following hyperbolas 

Watch Video Solution

49y2 − 16x2 = 784

https://dl.doubtnut.com/l/_91fmmorkRiBl
https://dl.doubtnut.com/l/_COEy2bPEJtjE


125. Find the hyperbola satisfying the

following conditions: 

Vertices , foci .

Watch Video Solution

( ± 2, 0) ( ± 3, 0)

126. Find the equations of the hyperbola

having vertices  and foci 

Watch Video Solution

(0, ± 3) (0, ± 5)

https://dl.doubtnut.com/l/_GPrYIBelNW4N
https://dl.doubtnut.com/l/_Aq7I4oIwW51L


127. Find the equation of the hyperbola having

foci  and transverse axis with length 8

Watch Video Solution

( ± 5, 0)

128. Find the hyperbola satisfying the

following conditions: 

Foci , the conjugate axis is of length

24.

Watch Video Solution

(0, ± 13)

https://dl.doubtnut.com/l/_S32fojGdndqY
https://dl.doubtnut.com/l/_bDM3QsrgZCuF
https://dl.doubtnut.com/l/_QE2e4hgsKwve


129. Find the hyperbola satisfying the

following conditions: 

Foci , the latus rectum is of length

8.

Watch Video Solution

( ± 3√5, 0)

130. Find the equation of the hyperbola having

foci  an
d latus rectum with length 12

Watch Video Solution

( ± 4, 0)

https://dl.doubtnut.com/l/_QE2e4hgsKwve
https://dl.doubtnut.com/l/_hcvT6hyGNTey
https://dl.doubtnut.com/l/_7Xbp63jlmjx1


131. Find the hyperbola satisfying the following

conditions: 

Vertices , .

Watch Video Solution

( ± 7, 0) e =
4
3

132. Find the equation of the hyperbola having

foci  and which is passing through

(2,3)

Watch Video Solution

(0, ± √10)

https://dl.doubtnut.com/l/_7Xbp63jlmjx1
https://dl.doubtnut.com/l/_uuGoCkPtoB5I


133. Express the equation 

of a hyperbola in standard form

Watch Video Solution

16x2 − 9y2 = 144

134. Find the length of transverse axis and

conjute axis, eccentricity and the co-ordinates

of foci and vertices of 

Watch Video Solution

16x2 − 9y2 = 144

https://dl.doubtnut.com/l/_qPmkG6ulaEM3
https://dl.doubtnut.com/l/_7O6IO4owNxhZ


135. Express the equation  of a

hyperbola in standard form

Watch Video Solution

3x2 − y2 = 4

136. Find the eccentricity, vertices, foci,

equations to the directrices, length of

transverse axis and conjugate axis and the

length of latus rectum of the hyperbola

Watch Video Solution

3x2 − y2 = 4

https://dl.doubtnut.com/l/_FlIFaYA52M23
https://dl.doubtnut.com/l/_nLZQH6tnd1fx


137. Consider the hyperbola  


If the hyperbola passes through (3,0), find 

Watch Video Solution

− = 1
x2

a2

y2

b2

a2

138. Consider the hyperbola  


If the hyperbola passes through  and 

, find the eccentricity of the

hyperbola

Watch Video Solution

− = 1
x2

a2

y2

b2

(3, 0)

(3√2, 2)

https://dl.doubtnut.com/l/_nLZQH6tnd1fx
https://dl.doubtnut.com/l/_anoKJCoPdREl
https://dl.doubtnut.com/l/_D8tO8XMVUJnd


139. Suppose  and 

 are the parametric equations

of a curve 

Find  and  in terms of x and y

Watch Video Solution

x =
et + e− t

2

y =
et − e− t

2

et e− t

140. Suppose  and 

 are the parametric equations

of a curve 

Eliminate t and obtain the cartesian equation

x =
et + e− t

2

y =
et − e− t

2

https://dl.doubtnut.com/l/_B0sSR6u4WbHO
https://dl.doubtnut.com/l/_qUQ3Ic6pbzBq


of the curve. Hence, prove that the given curve

is a hyperbola

View Text Solution

141. Complete the following table 

View Text Solution

(##ANEPMPMAT0XIC11E04009 _ Q01##)

142. Consider the ellipse  and

the hyperbola . Find the

+ = 1
x2

4

y2

3

− = 1
x2

64

y2

b2

https://dl.doubtnut.com/l/_qUQ3Ic6pbzBq
https://dl.doubtnut.com/l/_HOXABdKq0lWb
https://dl.doubtnut.com/l/_7jcE3mIDJi0K


eccentricity of the ellipse

Watch Video Solution

143. Consider the ellipse  and

the hyperbola .Find the

eccentricity of the hyperbola

Watch Video Solution

+ = 1
x2

4

y2

3

− = 1
x2

64

y2

b2

144. Consider the ellipse  and

the hyperbola .If the

+ = 1
x2

4

y2

3

− = 1
x2

64

y2

b2

https://dl.doubtnut.com/l/_7jcE3mIDJi0K
https://dl.doubtnut.com/l/_vBpWaxeoMaeq
https://dl.doubtnut.com/l/_gCbEpPus2342


eccentricities of ellipse and hyperbola are

reciprocals to each other, find 

Watch Video Solution

b2

145. If a parabolic reflector is 20cm in a

diameter and 5cm deep, find the focus

Watch Video Solution

146. An arch is in the form of a parabola with

its axis vertical. The arch is 10m high and 5m

https://dl.doubtnut.com/l/_gCbEpPus2342
https://dl.doubtnut.com/l/_8SnP43qW01W4
https://dl.doubtnut.com/l/_jSCcKZl1bU1O


wide at the base. How wide is it at 2 m from

the vertex of the paraabola

Watch Video Solution

147. An arch is in the form of a semi-ellipse. It

is 8m wide and 2m high at the centre. Find the

height of the arch at a point 1.5m from one

end.

Watch Video Solution

https://dl.doubtnut.com/l/_jSCcKZl1bU1O
https://dl.doubtnut.com/l/_lZ0evfaChFEn


148. A rod of length 12 cm moves with its ends

always touching the co-ordinates axes.

Determine the equations of the locus of a

point P on the rod, which is 3cm from the end

in contact with the x-axis

Watch Video Solution

149. Find the area of the triangle formed by

the lines joining the vertex of the parabola

 to the ends of its latus rectumx2 = 12y

https://dl.doubtnut.com/l/_HVqarR0KaIgc
https://dl.doubtnut.com/l/_00ZF7zawW8CI


Watch Video Solution

150. A man running a race course notes that

the sum of the distances from two flag posts

from him is always 10 m and the distance

between the flag posts is 8 m. find the

equation of the posts traced by the man

Watch Video Solution

151. An equilateral triangle is inscribed in the

parabola  whose one vertex is at they2 = 4ax

https://dl.doubtnut.com/l/_00ZF7zawW8CI
https://dl.doubtnut.com/l/_wlceGItHd9Vc
https://dl.doubtnut.com/l/_Nixf0bgEB7On


vertex of the parabola 

Show that 

Watch Video Solution

sideofthe △ = 8√3acms

https://dl.doubtnut.com/l/_Nixf0bgEB7On

